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PART A - MAT

01. Find the missing term in the given series. 01. & T et § Wl us S Bifor |
1775, 15X4, 13V3,?, 9R1 17725,15X4, 13V3, 7, 9R1
(A) 1182 (B)11T2 (A) 1182 (B)11T2
(O1102 (D) 11T3 (O1102 (D) 11T3

02. Find the missing term in the given series. 02. <7 T ST | W s S diford |
ACE, BDF, CEG? ACE, BDF, CEG?
(A) DFE (B) DBF (A) DFE (B) DBF
(C) DFH (D) DEH (C) DFH (D) DEH

03. ‘If “air’ is called ‘green’, ‘green’ is called ‘blue’, 03. Al Bar P B eI AT &, B Bl AT
‘blue’ is called ‘sky’, ‘sky’ is called ‘vellow’, ‘vel- BB AT 8, SNl Pl MBI B8 Sl B,
low’ is called ‘water” and ‘water” is called “pink’ QMBI BT “UIAT Bal Sl &, ‘Ul bl “Sel”
then what is the colour of clear ‘sky” ? DET STl & 3R “STel” Dl DT Sidl & Y[elal’

DET ST © <Al W ATHA BT AT F T 57

(A) Sky (B) Water (A) 3fTprer (B) U
(C) Blue (D) Yellow (C) e (D) et

04. T is the son of P. S is the son of Q. T is married to 04. T.PHI YA 5| S,QPI YA & | Tl fqare R gall
R. R is Q’s daughter. How is S related to T ? TIRQ® a1 21 S,T ¥ fbw bR Hefdd 87
(A) Brother (B) Uncle (A) ATS (B) @Tem
(C) Father-in-law (D) Brother-in-law (C) AFR (D) 95415

05. Amit walked 30 metres towards East, took a right 05. AT YT I AR 30 HICX I, I81 W Y T 3R
turn and walked 40 metres. Then he took a left 40 ¥eR gaT| T a8 IRl 3R JT 3fR 30 Hiew
turn and walked 30 metres. In which direction is T | URME fdg ¥ 3@ a5 vy faem o 87
he now from the starting point?
(A) North-cast (B) East (A) B?R’—tfc([ (B) q\_c([
(C) South-cast (D) South (C) sferoT—qd (D) <feror

06. A man walks 30 metres towards South. Then, 06. Ueh 3MMGH! SIRTUT I 3iR 30 Hiex dardl & | fhe, I8
turning to his right, he walks 30 metres. Then, T ST 3R dSDN 30 W) godl & | fR @8
turning to his left, he walks 20 metres. Again, he IR IR SN 20 Hiex gorar & | I8 foR 9 978
turns to his left and walks 30 metres. How far is AR Hedl & 3R 30 e gadl & I8 AU
he from his initial position ? IRfe Rerfa & favaei g3 87
(A) 20 metres (B) 30 metres (A) 20 #Hiex (B) 30 #icx
(C) 60 metres (D) None of these (C) 60 #HIex (D) 398 ¥ P &
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07. In a group of six children, Q is taller than P but not 07. ©E dedi D e #, Q,P ¥ ofdr &, cifdhd L far
as tall as L. M is taller than N and O, but not as aT 81 7 1 MUN 3R O 9 &4T ®, elfde P forar
tall as P. Who is the shortest among them ? T FE1 © | S | HaY BICT B 87
(A) N (B) O (A)N (B) O
OM (D) Data inadequate M (D) Data inadequate
08. Sam ranked ninth from the top and thirty-eighth | 08. I U dedT § FUR A Al 3R A A srsdid
from the bottom in a class. How many students WM R 8| ®ell ¥ fhad B 87
are there in the class?
(A) 45 (B) 46 (A) 45 (B) 46
(©) 47 (D) 48 (©) 47 (D) 48
09. Five boys A, B, C, D and E are standing in a line. 09. Ufg os® A, B, C, DR E & Ufdd & @S Bl
A is taller than E but shorter than D. B is shorter AE ¥ <1 ¢ oiféd DY Bier 2| B.EY Bl ©
than E and C is the tallest. Who is in the middle? 3R C WaY of«1 g | 4 # B &7
(A) A (B) C (A) A (B) C
©)D (D) E ©)D (D) E
10. Select the correct mirror image of the given fig- 10. <1 1% 3Pl @1 He! UV BfT BT =dT BN |
ure. PRSI ST@%
Question figure X
| =7
& &
Y
Answer figure TR MPFA
[ |
(A) eg (B) (A) eg (B)
(©) @ (D) © ®)
SPACE FORROUGH WORK
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PART B - PHYSICS

11. The basic unit of speed is. 11. I B YT AED 87
(A) km/min (B) km/h (A) km/min (B) km/h
(C) m/min (D) m/s (C) m/min (D) m/s

12. A car moves with a speed of 80km/h for 15 minutes 12. T dR 15 e ad so fdl /der @ wfd |
and then with a speed of 60 km/h for the next Teidl & 3R fhr 3Tet 15 e T 60 fbHr / Her
15 minutes. The total distance covered by the car @I T ¥ Ferdl §1 PR GRT 0T &bl TS el
is. < &rf
(A) 100 km (B) 35 km (A) 100 km (B) 35 km
(C) 500 km (D) 70 km (C) 500 km (D) 70 km

13.  The value of 2 km/hr is equal to. 13. 2 km/hr BT A9 SRR &,
(A) 4/9 m/s (B) 13/9 m/s (A) 4/9 m/s (B) 13/9 m/s
(C) 5/9 m/s (D) 7/9 m/s (C) 5/9 m/s (D) 7/9 m/s

14, The meter that measures the distance moved by 14, @8 Hicx S foul are g1 g &1 1€ 0 @1
a vehicle is. HU S |
(A) Speedometer (B) Anemometer (A) ISR (B) THHIHIER
(C) Odometer (D) Thermometer (C) SMSFIeR (D) emiHeR

15. The meter that is used to measure speed of a I5. foeit are &1 i Ao & fore for Hfiex @
vehicle is. TN fdar Smar & 98 87
(A) Speedometer (B) Anemometer (A) weMIcR (B) UHTHTCeY
(C) Odometer (D) Thermometer (C) 3MSHTex (D) emiHeR

16. When an electric circuit from the positive termi- 16. S 4Nl @ g i | s e
nal of the battery to the negative terminal of the a faegd aRger g1 81 ST &, O gRae s
battery is complete, then the circuit is said to be. gl
(A) Closed (B) Open (A) 9T uRue (B) et gRuer
(C) No change (D) Disconnected (C) @1 TRadT =&t (D) fwwriae foar
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17. Current flows through the circuit when the circuit 17. S gRyer Rerfd # siar & @ uRu
is in the condition. ¥ ORI yarfed s o
(A) Closed (B) Open (A) 9% (B) e
(C) Broken (D) Incomplete (C) <cr gam (D) 3wt
18. An electric wire connected in a circuit gets heated 18. &l gRuer # SSIRCE CENINGE] UERSETIG
up when current is allowed to flow through it. This 2 Ol9 S fIgId o1 Jardd @ Il © | g9
is due to. Tolg &7 o9 fogd aR # faea g yarfed s
g Al d 9 Bl W §| SHBT d BRU 57
(A) Heating effect of current (A) ERT @l A
(B) Electrical effect of current (BSSS PT 19 2oy
(C) Musical effect of current PRI ATa
(D) Optical effect of current QIFEIRD 7| ATa
19. A glowing filament will be. 19 TP <1 (llz T fhemie) ag s
(A) At a low temperture (e AN
(B) At a high temperature (B) 5= EN
(C) At atmospheric temperature (CTIHSE T g S8
(D) At the temperature of ice (D) % @ Y
20. The heat energy produced by a glowing bulb can 20. TP T (FFPel) 9o § NI. i Nt sl
L . . H1 ATRMRYT f4STell & dedl & WU U
be minimised by using bulbs in place of . R -
ordinary clectric bulbs deodl DT SUYIT h¥h hH THUT ST Hbh ]
' g
(A) A candle
Udh <l
(A) MIKE
(B) CFL bulbs
(B) HIuwud o
(C) Torch
(C) wemet
(D) Kerosene lamp
(D) g & da @& dud
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PART C - CHEMISTRY

21. Which of the following is not a required condition 21. ST o @ forw fA=faRad o 9 o ) sawad
for rusting to occur. It T 2?
(A) Presence of oxygen (A) 3iTFATSE BT Iuferfe
(B) Presence of CO, (B) CO, @I SuRerfa
(C) Presence of water vapour (C) STerary &1 SuReIfa
(D) Presence of water (D) STt &I SuRerfa
22. Which of the following chemical is responsible for 22. f=ferRad & & @9 |1 \E 51\:\[ CRECl
making lime water milky. e a9 @ fiy SaverT 87
(A) Calcium carbonate  (B) Calcium hydroxide (A) DIEIH BIEFCT (B) DA BESINIES
(C) Calcium chloride (D) Calcium oxide (C) DT FARISS (D) hiceH IITFATSS
23. If you leave a piece of iron out in the open for a air, 23. Ife oMy die @& Q_Cb_é* DI TSl R & forw aryg il
it will develop a layer of brownish colour. What 1s Ble ad ©, d S W ﬁ? AT BT URA g9 ST |
the name of this brown substance. EXl ‘]? UgTef @1 A F1 57
(A) Dust (B) Rust (A) ga (B) ST
(C) Both A and B (D) Brown sand (C) ASIR B gl (D) ¥
24, Which of the following gas absorbs harmful 24 f=rfeiRad & & @9 9 19 g3 ¥ 3 arel!
ultraviolet radiation coming from the sun. BIFepINeh URTTHI fAfehRor T Srqenfiie eell @ |
(A) Oxygen (B) Ozone INEICNISE! (B) 3iTSi
(C) Carbon dioxide (D) Nitrogen (C) P Sig3ficdss (D) Ao
25. What happens when vinegar reacts with baking 25. T BT & Sfd et afcbtr et & ey sifdfhan
soda. BT 87
(A) Formation of water (A) STt @t feafor
(B) Formation of carbon dioxide (B) B+ SIg3iiearss &1 fHHior
(C) Formation of Hydrogen gas (C) BTgSIoH ¥ &1 fHfor
(D) Formation of oxygen gas (D) iR % BT iy
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26. Which of the following acids is formed when carbon 26. fr=ferRaa § & &9 a1 317l T a1 & O drae
dioxide is dissolved in raindrops. SIECIERIES] auf @l @ | el SIrdT z?
(A) Carbonic acid (B) Hydrochloric acid (A) BIEID 3 (B) BISSIGAIRG 3+
(C) Oxalic acid (D) Formic acid (C) 3ffaferd are (D) Wiffid 3t
27. Which of the following is a natural indicator. 27. fereforRaa & 9 &F 91 T &T@ﬁi—cﬁ Hadd .
(A) Phenolphthalein (B) Litmus (A) T (B) feremsn
(C) Methyl orange (D) Bromothymol blue (C) TRermser 3RS (D) SHIRITSHI Y
28. What is the primary use of sodium hydroxide. 28. aifeaH Sléﬁ\fwlsﬁs BT Ui SUART 7T 8°
(A) Used in baking (A) BT F ST o Sirar @
(B) Used in cleaning (B) W%TS # SYART fdar Sirar @
(C) Used in medicine (C) 3y # SyAnT fobar ST @
(D) Used in agriculture (D) P # SUIRT fovary STl @
29. Which of the following changes in generally 29. fferRaa # 11 1M A1 aRadd AMMIa: SehAvi
reversible. BT &7
(A) Chemical change (B) Physical change (A) IRIM® gikacdA (B) wifad gRacd=
(C)Both A and B (D) None of these (C)A 3R B gHI (D) ST ¥ BIS T8I
30. How can rusting of iron be prevented. 30. dle | O & |9 &Y AT o Habdl &7
(A) By keeping iron in the air. (A) AT Bl ary H I A
(B) By painting or coating with grease. (B) Ufe T a1 I & mafRd axab |
(C) By washing with water. (C) 9T ¥ & .
(D) By heating the iron (D) ¢lig &I TH D
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PART D - BIOLOGY

31. What is the process by which plants make their own 31. qg DI AT Wlshan & @ gIRT Il 31U AT
food? EERICEIN T
(A) Respiration (B) Photosynthesis (A) Raud (B) bTe HZeIH0T
(C) Decomposition (D) Fermentation (C) 3UecH (D) fpua

32. Which part of the plant is responsible for absorbing 32. UIe T Bie |1 A g 9 url $iR @it @
water and minerals from the soil? ey By @ fory forieR 82
(A) Roots (B) Stems (A) oS (B) T
(C) Leaves (D) Flowers (C) Tfrat (D) Wt

33. What is the green pigment present in plants that helps 33. a9 HIole B e @l g Gl S% HbTel
them to capture sunlight for photosynthesis? Heelwur & fory Ha( & FDTI DI YBUT PRl ¥ HEq

DR B?

(A) Chlorophyll (B) Carotene (A) FerRifpet (B) BRI
(C) Haemoglobin (D) Cytokinin (O) ErIeifa (D) wrgeifRfT

34. What is the process by which animals take in food? % & P Qﬂ, T & T T A

BT DRl &7

(A) Respiration (B) Photosynthesis (A) TR (B) WIS 20T
(C) Ingestion (D) Digestion (C) sfaiger (D) 9T

35. Which of the following is an example of a 35. fr=ferRad W | &N A1 FIATERY SR Bl S8R0
carnivorous animal? 8?
(A) Cow (B) Lion (A) T (B) 3
(C) Elephant (D) Deer (C) BN (D) T&=or

36. What is the role of teeth in animals? 36. SRl | &A1 @7 @7 HHbT 57
(A) To chew and grind food (A) 9IS B I 3R YT
(B) To absorb nutrients from food (B) HISIF ¥ U9 Tl ol AN & & forw
(C) To digest food (C) T Ta= @ forg
(D) To eliminate waste products (D) AR ITET Pl FH HRAT

SPACE FORROUGH WORK
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37. Which part of the digestive system absorbs nutrients 37. UTrad 5 BT BIF AT W17 Ao A 9I¥d dedl dl
from food? AT HT 87
(A) Mouth (B) Stomach (A) 4B (B) UT
(C) Small intestine (D) Large intestine (C) BT 3rfd ESEIG]

38. What is the by-product of digestion that is eliminated 38. UTae &1 IU—ScTs T 3 ol IRR ¥ 918 Mdba
from the body? ST 872
(A) Urine (B) Feces (A) T (B) #eT
(C) Sweat (D) Saliva (C) T (D) @R

09. What is the process by which organisms release 39. I8 WihaT a1 © e gIRT Sl Wi 9 Goll
energy from food? Bled &7
(A) Photosynthesis (B) Respiration (A) HPT HIATOT (B) 39
(C) Decomposition (D) Fermentation (C) 3uEeH (D) fdboe=

40. Which of the following is a by-product of  40. FfeTiRae # & 9 A1 a9 BT SU—SaTE 87
respiration?
(A) Oxygen (B) Carbon dioxide (A) 3T IR ERIEGIES
(C) Water (D) Glucose (C) U™ (D) Wﬁﬁ

SPACE FORROUGH WORK

Piprali Road, Sikar -332001 (Rajasthan), Contact No. 8875023160, 9257086020

Page#8



K-SATSAMPLE PAPER - 2024

PART E - MATH’S

41, Compare : (224+31)H-45) _ (Dx(-1043 | 4. T BT (222)+B1DHA45)_ (:2)x(-10)+3
(A) > (B)< (A)> (B)<
©)= (D) None of the above O = (D) None of the above
42, Find the weight of 24 bags if three same kind of | 42. I T THM bR & 9717 BT I 18.90 fhedium
bags weigh 18.90 kg. T I 24 S BT IO AT DN |
(A) 151.2 kg (B) 453.6 kg (A) 151.2 kg (B) 453.6 kg
(C) 226.8 kg (D) 380.65 kg (C) 2268 kg (D) 380.65 kg
43. Find the median of first 10 natural odd numbers. 43. W 10 Ui faud BN B ATRIDT AT
DI |
A)9 (B) 11 (A)9 (B) 11
© 10 (D) 11.5 ©) 10 (D) 11.5
44, Solve:x/3+x/4=7 44 T BINY : x/3+x/4=7
(A) 12 (B) 13 (A) 12 (B) 13
©) 14 (D) 10 (©) 14 (D) 10
45, The complement of 2/9th of 180° 1s 4. 180° @ 2/9 q T Wb &
(A) 50° (B) 60° (A) 50° (B) 60°
(C) 70° (D) 80° (©) 70° (D) 80°
46. Find the largest angle of the triangle ABC if angles 46. st ABC @1 I ST DU F DI A
arcinratio3:5: 4. PIOT T SUT 3:5:4 B
(A) 60° (B) 75° (A) 60° (B) 75°
(C) 80° (D) 65° (C) 80° (D) 65°
47. The cost of a sharpner is 40 paise and the cost of a 47. U AR BT BT 40 T & 3R v 4Rt o1
pencil is Rs. 2. What is the ratio of their costs in P . 2. FRETTH B H STHT AT PT AT
simplest form? T E?
(A)2:20 (B)1:5 (A)2:20 (B)1:5
(C)1:4 (D)2:8 C©1:4 (D)2:8
SPACE FORROUGH WORK
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48. What is the side included between the angles A and 48. AABC #H &I A 3R B & o1 did AT GSIIIER]
Bin AABC? 87
(A)AC (B)BC (A)AC (B)BC
(C)AB (D) None of these (C)AB (D) T4 | @18 7Ll
49. In a right-angled triangle, the angles other than the 49. HHDIT BI{N H A & IrfaR® 3= BIvT B
right angle are g
(A) obtuse (B) right (A) 3ifere (B) DI
(C) acute (D) straight (©) A (D) e
50. The sum of two integers is -112. If one of them is - 50. ST qUITehl BT ART —112 B | AT T4 4 T —109
109, the other is g, ENA g
(A)-121 (B)3 (A)-121 (B)3
(©) -3 (D) None of these (©)-3 (D) §F4 & @I &l
SPACE FORROUGH WORK
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PART F - SST

51, The ... is the thin layer of air that surrounds | 51. .. BT BI Udell URd & Sl YT &l IR 3R |
the earth. TN N 2l
(A) Atmosphere (A) dIgHS
(B) Lithosphere (B) RIcTHSH
(C) Hydrosphere (C) STeTHSd
(D) None of the above (D) SWRIH # | ®Is 8!
52. Which of the following are the component of 52. fr=forRaa & @ dI9—ar wafaR &1 9@ 87
Environment ?
(A) Natural (A) g-@f%rcﬁ
(B) Human made resources (B) g fHfHa wamws
(C) Human resource (C) 9T e
(D) All of the above (D) SURKH T
53. The mentle extends up to the depth of ........ km. 33 E: rorc AN forft Y TS Tb BolT B3N T
(A) 2900 km (B) 35 km (A) 2900 km (B) 35 km
(€) 3500 km (D) 1200 km (C) 3500 km (D) 1200 km
54. Ox bow lakes are found in .......... 54 3t &1 el ¥ U8 S B
(A) Glaciers (A) WRRR
(B) River valleys (B) < ®rfeat
(C) Deserts (C) =
(D) None of the above (D) SWRID # | BIg 6!
55. A is a vent (opening) in the carth is crust 55 gl # U g (S]Emes) © ol Yuudt @
through which molten material erupts suddenly. e AaegT O O B3N PR EIGE we
TSl B |
(A) Volcano (B) Meanders (A) ST (B) Arsd
(C) Flood plains (D) All of the above (C) 91¢ @ HgH (D) SWRIH I
SPACE FORROUGH WORK
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56. and ... are two gases which make up 56, AR e 7 A g o qrIgHScd Dl d1
the bulk of the atmosphere. et g9t 2
(A) Argon, Oxygen (A) 3, 3ifaiTST
(B) Carbon dioxide, Argon (B) Pla SISIITaATSS, 3H
(C) Nitrogen, Oxygen (C) TSI, ARSI
(D) Argon, Carbon dioxide (D) 3T, PE- SIS S
57. In order to prevent and treat illneus we need 57. T @I JABATH AR SUIR & foIv & T
approxiate health care facilities like......... R X HT ] @I(ablldﬁ DT IMATIHAT § OI...
(A) Hospitals (B) Ambulance service (A) YTt (B) Trgcls T
(C) Blood banks (D) All of the above (C) =TS d@ (D) SWRIh T
58. On which of the following does our good health 58. SHIRI 3o ¥arved feiiad o ¥ febd 1 ek
depend ? BT B2
(A) Clean drinking water (A) XTI GASTA
(B) Pollution free environment (B) IqyYT HxhH TR0
(C) Hygienic food (C) WB oA
(D) All of the above (D) SWRIH !
59. The salary of the mansbdars was called. 59. ATHAIRT T I GelrdT 37 |
(A) Mansab (B) Jat (A) #T8d (B) Sfre
(C) Jagi (D) Zabt (C) Y (D) orsd
60. Who was the first Mughal emperes ? 60. Y el HHTC DI oA?
(A) Babur (B) Shahjahan (A) dTeR (B) TESTEl
(C) Jahangir (D) Akbar (C) SiBiiR (D) 3R
SPACE FORROUGH WORK
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Jhunjhunu Bypass, Sikar (Raj.)
C 979 990 1555, 8290 16 8888
° °

Navjeevan NDA & Defence Academy

Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)

L 8875 03 8888, 8875 04 8888
[ °

Navjeevan SAINIK Academy

Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)
8875 03 8888, 8875 04 8888

Navjeevan Science College
Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)

Q01572-248544, 9773347888, 8384971413
° °

Navjeevan B.Sc. B.Ed. College

Vrindavan City, Jhunjhunu Bypass, Sikar (Raj.)
C01572-248544, 9773347888, 8384971413
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